T T—

——

any attempl 0 commiy any king

ERMHG ;’;'T":‘::'l‘;::;:::; ::.m ])[‘;QHA' IrYyTHE C m"\?:" |Pl’:|rllce in
PAPER - 11 MATHEMATICS - 202
-_-j_“-"—-l
: | 1 Dooklet

:::;:M I;Z g::‘:::l;';lll“hl'” 1218 187
Time: 150 Minutes Number of Questions 120 M.m
Name of the Candidate | | = ——
“Roll Nomber - I
!I signature of the Candidate v R
ol INSTRUCTIONS TO CANDIDATES T .

1

| Please ensure that the VERSION CODE shown at the top of this Question
Booklet is same as that shown in the OMR Answer Sheet issued to you. [f yoy
have received a Question Booklet with a different Version code, please get it
. replaced with a Question Booklet with the same Version Code as that of OMR
Answer Sheet from the Invigilator. THIS IS VERY IMPORTANT.

' 2. Please fill the items such as Name, Roll Number and Signature in the columns
F given above, Please also write Question Booklet Serial Number given at the top of
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1. The set of all integer values of x that satisfy the inequality 19 < -3x < 27 is
i
! (D) {‘9. —8,-7.....4,5,6} (E) @
|

Let X be the set { 1, x, {42,\/'2- }, {1,3}} . Which of the following statement(s) is/are true?
P:reX }Q:{I.B}g,\’ R:{lrjcX

(ﬁ’\) P only (B) Q only (C) R only
«AD) P and R only (E)P,QandR

R
~

i 3. The value of @in the range0 <@ s-;i which satisfies the equation sin (0+%)= cos &

is equal to

T T
LAY ®) 7

w b4
© 3 (D) ry (E)

vy

4. Ifcosec &+ cot 8=35, then the value of tan € is equal to

S

Wi @ © % ® 5 B)

]




The value of tan™! (%) ~tan™! (%) is equal to

(A) -“—_,,ﬁ (B) % (D) % (E) »

Ifo<eg <% and lan0=-§,then cos @is cqual to

L V3 l /2‘ E £
(4"\)2 (B)—z- (C) : D) 3 (E) 3
The value of si 2( "(3)) ' |

n*| cos™ (2] | is equal to

4 16 9 5 E) 25
(A)S \ (B) E (C) 25 (D) 3 ( 9
cos* = —sin* = is equal to

12 12
1 J3 J3+1 J3-1 2
(A) 3 . (B) > (9] 5 (D) 5 (E) >




9. tan(Ztan"(%)) is equal to

8 10
(A) 5 (B) 21 ‘/(C)’—i—(1 (D) .;_; (E) 25

2
s & m 2x T 2r r 5r X 2Z
A) 6’ 3 (B) —, 3 (©) T3 (D) e (E) 3’ 6
: .. J6
11. H‘sma+smﬂ=—i—and cosa+cosﬁ=—‘/22, then cos(a - ) is equal to
(A)~ ®) 3 ol 3 (E)0
> > © 5 (D) >

12. If ay=x+bis the equation of the line passing through the points (=5,-2) and (4, 7),
then the value of 2a+ b is equal t

(A)1 (B)3 (s (D) -3 (E)-1




13, The y-intcrccpt of the line passing through (2, 5) with slope -‘l_z is equal to
(A) 1 (B)2 ©)3 (D)4 (E)5
14. The €quation of perpendicular bisector of the linc segment joining the points (10, 0) and
(0,-4) is
LAY Sx+2y=2] (B) 5x+2y=0 (C) 2x—5y=21
(D) Sx-2y=2] (E) 2x+3y=21

3 . -
1S. The equation of the line which is parallel to x+-;- y=7 and passing through (1, 3) is

(A) 2x+y=7 (B) 2x+y+5=0 (C) 2x+y=3
(D) 2x+y=6 JAE) 2x+y=5

16. If x-intercept of the straight line ax+2ay =30 is 10, then the y-intercept is
/(A)’s (B) 10 (C) 15 (D) 20 (E) 30




axis, wherc

17. : . . . -
A straight line makes an angle @ with the positive direction of x

3
Cosa =— : . . .
5 If it passes through (0, -2), then its equation 1S

() VBx+y+2=0 B) VIy+x+2=0  (C) Fy+x+23=0

|/(D)’ '\/3)"‘.\'4- 2\/5 =0 (E) \[5_\'+_l"—2\[3- =0

18. The equation of the circle js 3x* +3y? +6x—-4y—1=0. Then its radius is
8
E) —
(E) 3

l -
(A) - 4 2 16
3 ‘L/('B) 3 (C) 5 (D) 3

19. " The end-points of a diameter of a circle are (~1,4) and (5, 4). Then the equation of the

circle is

(A) (x=3)*+)*=9 (B) (x=3)* +(y+4)’ =3 M—Z)zﬂy—“)z =9
(D) (x+3)° +(y+4) =9 (E) (x=3) +(y-4)* =4

20. The two diameters of a circle are segments of the straight linesx—y=35and

2x+ y=4. If the radius of the circle is 5, then the cquation of the circle is

2 2
,Qﬂ +y =6x+4y=12 | (B) x*+y’-3x+2y=12 (C) X +y'—6x+2y=12




21.

22,

nrough (=3, 5)and having
g thr

. passin
The equation of the parabola with vertex (~6.2) 5 xR
. = X
aXis panallel to y.qyis i ©)(r+2)
(A +2) =3v416 (B)(x+6)" = 3)”-68
, ?=3x+l
(D) (.\"'6)2 - 4"._8 _\LE) ('\'—2) d one Of the VcrticeS Of “S
ose is (1, 1) an tion of the
S n ellipse is (1, en the equa
One of the vertices or)'h;:‘t:;ajocrc::: zg I:Ilc ellipse is (=2, 1): "
minor axis s (=2, -1). e 2
2
ellipse is , 2 (x=2)° 1) _ 1
~ 1)2 (.'l'+ 2)- + (’v - l) = ] (C) 9 4
- 2 y- o
(-‘__2)2 . (_l'+])- -1 (E) (-\- ';2) + ( 5 1
©) 16 4 :
irectrixx+3=01s
The equation of the parabola with focus (3, 0) and directri

S
) ¥ =3x-9 (B) y*=4x-12 | AC)y* =12x
(A) y"=3x-

(D)y* =12x-36 (E) y*=12x-9

— o~ —



2 2
24.  The eccentricity of the ellipse ;—6 +';—6 =1 is

¥5 Js V30 (D) -@ (E) -J?
3 6

(B) o (C) i

(A)

4

icity is — length of
25.  The foci of a hyperbola are (8, 3) and (0, 3) and eccentricity 15 = Then the leng

the transverse axis is

8
(A) 3—32 (B) 4 ©)8 (D) 3 ] 6

26. The co-ordinates of the points P and Q are (2, 6, 4) and (8, =3, 1) respectively. If the

PRI= | RO dinates of R
point R lies on the line segment PQ such that 2| PR|= | RQ|, then the co-ordinate

arc

(A)Y(4,-3,3) (B)(4,3-3) (O -31) |(PV4,3,3) (E) (2,3, 3)

- - A A A — - . T - =,
27. If |a|=2,b=2i-j-3k and the angle between a and b is :,then a-b isequal to

(A)14V2 w@? (©)V30 D) V7 (E)V14




28.

29,

30.

31.

A A A

If @ is
the angle made by the vector a =57 +3j+4k with the positive x-axis, thep

Cosa =

5 2
) 5 B) 3 ‘/(C{_z' (D) = E)75
= — - — -3 =
Ifla|=3,|b|=4 and |a-b|=+7, then a-b iscqual to
(E) 12

(A)7 (B) 8 ()9 (D) 10

If :5 ?+,1}-22, B’:z?_3_;"\+5£ and :;.3=-20, then the value of A is equal to

(A)2 (B)-2 (C) -4 yﬂ (E) 5

A A A A A .
If ;=;‘\-3}+a2,3=:"\-2_}+4k and ;x3=—2i+j+ﬂk,then the value of B is

equal to
(A)-2 (B) 2

(C)-1 D)1 (E) -3




32.

33.

34.

35.

A A

A A A A
The values of a so that the vectors ai+(a-1)j+3k and (@+2)i+aj-2k are

perpendicular, are

3 3
(A) 5.—2 (B) 2 2

3 3
(C) 2 > (D) 2, ) (E) -4, 5

3

i 4 - -3 - o - =
If |Ju|=5, | v|=4 and the angle between v and v is E,tht;:nlm-:vl is equal to

(A) 10/3 (B) 1042

(C) 20 D)SVZ  L(EMO

A A A .
If the point P(x,1,4) lies on the line r = i+3 j+4k +A(2i~ /), then the value of x is

equal to
(A)2 (B) -2

(€3 (D)-3

JEYS

The equation of the plane through the point (2, 1, 3) and perpendicular to the vector

A A

4;'\+5j+6k is
(A) 4x+5y+62z=28
(D) 8x+5y+18z=21

(B)2x+y+3z=17

U

/(E)4/x+5y+62=3l

(C) 4x+5y+62z=33




. —h» A A A A A
36. The angle between the line » = i+2 j+1(3i+2 j-k)and the planc 2x=3y—z=1is

37.

38.

39.

caf 1
(A)sin (EG-)

. 1
B)sin~'| —
(B)sin [14)

e A(13) e af13
(C)cos (ﬁ) (D)cos (-1—4-) (E)sin [M)

A SR S
If the line r =2i+ j+1(3i+ j-2k) is parallel to the planc2x+4y+az =8, then the

value of a is equal to
(A)2 (B)3

(C) 4 D)5 (E) 6

- A A A A A - n A ~ AT
The angle between the lines r = i+4k +A(2i+j—k) and r =2i—j+3k+u3i+k)

1S

(A)cos™ (%]

\(/B)’ﬂcos'| [ 2

V15

-1 ] -1 ‘/I_S -1 ﬁ
(C)cos (E) (D)cos [—1-5-") (E)cos (30}

The Cartesian equation of the line passing through (7, 5, 3) and perpendicular to the

plane 3x+2y+z=6is

(A)

x=7_y=5 2z2-3
3 2 ]

z-3
2

x=7_y=5_

(D)3 ]

x=3 y-2_ z-1

7 5 3
x-4 y-3 z-2
4 3 2

x-3 y-2

© 7 5

(B)

=2
3

(E)




40.

41.

42.

43.

The acute angle between the planes 2x—y—3z=7and x+2y+2z=0 is

,
(A)COS"(—JI_ZJ __’(B)’:'rt—cos'l il_i} (C)cos"(ﬂ}
14 L 7 11
(
(D) 7 —cos™ (ﬂ] (E)7 —cos™ ﬂ]
21 |7

The vector equation of the line joining the points (2, 1, 3) and (-2,4, 1)is

— A A A A A A - AA A " o o
AA) r=2i+j+3k+A(=4i+3j-2k) | (B) r=2i+j+3k+A(4i+3j+2k)

— AOA A A A A - AA A n A "
(C) r==2i+j+3k+A(-4i-3j-2k) (D) r=2i+j+3k+A(3i—4j-2k)

-) A A A A A A
(E) r=—4i+3;-2k+AQ2i+j+3k)

A bag contains 5 yellow, 3 green, 2 blue and 7 white balls. If 4 balls are chosen at
random, then the probability that none of them are white is

3 7 5 5 3
(A) 5 ®) 3, © 5 ©) 5 NCE

An um contains 25 marbles which are numbered from 1 to 25 and a marble is chosen at
random two times with replacement. Then the probability that both times the marble has

the same number is

- )

24 o1 624
625

! s 2
35 T © & ®) s E) 55




44. If
4 and B are two events such that P(A) = 0.2, P(B) = 0.55 and P(ANB)=0.1, then

P(BAn A°) is cqual to

(A)0.25 (B) 0.35 l/((:)”6.45 (D) 0.65 (E) 0.75

S. { 1 M i i
45. Two dice are rolled. If 4 is the event that sum of the numbers is 4 and B is the cvent that
at least one of the dice shows a 3, then P(A| B) is equal to

3 b) | |
A) — - -
(A) T 1.(B)ﬁ (C)'&' (D) 6 (E) 11

46. Assumec that » distinct values x,,X,,..,x, occur with frequencies /i, fpr--f,

n

8 8
respectively. If ¥ =7and Y. f;x, =315, then D f; =

i=1 i=1

(A) 35 (B) 45 (C) 48 (D) 42 (E) 40

50 50
47. The variance of the data x;,x,,..., X5y With Zx, =650 and fo =10000 is

i=] i=1

(A) 30 (B) 40 (C) 39 (D) 41 (E) 31




48. If X is a random variable with £(X) = 6 and V(X) = 3, then E (X 2) is equal to

(A) 33 (B) 36 ' L1(2—)’3/9 (D) 42 (E) 27
4x+3 -1 .
49. Let f(x)= 5 . Then the value of /' (-2) is equal to
X+
7 =7 -7 7 5
A) L il c) =L D) ~ E) =
() 5 L(B) ~ © (D) - (B) 2
2x forx<l1 . ) .
50. If f(x)= is continuous on R, then the value of a is equal to
Sa-x forx21
1 2 3 4
A) — = Y = D) — 1
(A) 5 (B) 5 i JC) r (D) 5 (E)
51. lim S:HZI is equal to
=0 8t + 4y

(E)1

L |

1 2 1
() 3 ®) © < ®)




h
rJ

h
Y]
.

im —
sS¢ !
=0 oy 3" equal to

(A) 6 B) 3

Let f(x)= {3: +2, ifx<-2

X*=3x-Lifxa-
(A)-4,3 (B) 6,3

. X +16x+
lim 2 39 is equal to

=3 20T 4+ w43

8
(A)2 8
(B) 3

(C) 3

.Then  lim- J(x) and \

L

(C)-6,3

0=
( 3

(D)6

~AD)-4,9

7,
() -2

(E)0

lim /f(x) arc respectively

(E) 9a -4

(E)O

Let f(x)=6 {/\_‘ . If f'(x)=ax”, where a and p arc constants, then the value of p js

equal to

: 2
@3 ® 3

9
AC) 3

=
@) 5

2
(E) 3



T -‘—{"—’=(tnn )" ((cos x) log(tan x)+g(.r)). then

Let y=(tanx)"" for 0<x< 7 -
g(x) =

(A) sinxsec’ x (13)sce x cosec x n(C)sccx

(D) cosec x (E)sinxtanx

If £(x) =(.\-’ +8in :.'.\')’. then /(1) is equal to

(A) 2 (B) 5(2%) ©) 15 D) 50+7) | (BLSG—1)

- () .
If k(x)=4x" =Sx+ 7is the derivative of f(x), then linz) AL H: S() is equal to
1=

LCI f(-‘) _ (‘l. if.’r <l . .
|mx+6.ifx>1 be differentiable at x = 1. Then the value of m is

(A) 6  B)e (C) -6 (D) -e (E) 1

Cnana fae L "




| o ________i______
tanz(’r

(C) 163 w{éi/i (E) 16

61.

If . i
the tangent line to the graph of a function f at the point x = 3 has x-intercept % ang
y-intercept -10, then JS'(3) is equal to

(A)3 (B) 5 ©) ?53_ \,& (E) -10

The slope of tangent line to the curve 4x? +2xy+y’ =12 at the point (1, 2) is

(A)2 B) I (©) -1 . (D)2 (E)O

62.

63. Let f(x)=+x+5 for 1<x<9. Then the value of c whose existence is guaranteed by

the Mean Value Theorem is

(A) 2 (B) 3 L(O)4 (D)5 (E) 6

x—5 . Then the interval in which

64. The derivative of a function f'is given by f'(x)=

J/1s increasing, is

/(A'st, c0) (B) (0,c0) (C)(—4,) (D)(~2,—4)  (E)(—»,5)

—




65. Let f(x)=x"logx,x>0. Then the minimum value of / is

1
(C) -2¢ (D) Ve B

(B) 2e

™7

1 a way that its edge is increasing at a rate of 2 inches per

66. A cube is expanding in sucl
hange of its volume is

second. If its edge is 5 inches long, then the rate of cl

\(A) 150 in’ /sec (B) 75 in’/sec (C) 50 in’ /sec
(D) 30 in’ /sec (E) 45 in’ /sec

67. Ixsel_xodr =

1 1x6 6

(A) ri +C (B) - +C ‘LQ)/-%e""G+C
x* .6 6

(D) S-e™ +C €) Ze +C

68. [(5-4x)edx =

J(A) e*(4x-1)+C (B) e *(9-4x)+C (C) e *(4x=5)+C
(D) e™*(4x=9)+C (E) e*(5-4x)+C




J-cos(tan X)

cos? x -

(A) (tanx) sin(tan x) + C

(D) (cosx) sin(tan x) + C

p 1
D -

)
\
\

(A) 2log|e™ ~1|-x+C

(D) x-log

ezx—l|+C

1. Isin 2x cosx dx =

(A) Sroos' x+C
| 3
(D) Ecos x+C

72. f( &=

1+cot® x)sin® x
(A) tan~'(sinx)+C
(D) cot™'(cosx)+C

(B) sin(tan x)+C

c

(E) cos’(tanx)+C

eh_]|+C

(B) x—%“’g

|
(B Jloe

o2 _ll_x-}-C

-2 3
B) —cos’ x+C
SB) 3

() Sro0s’ x+C

(B) tan~'(cosx)+C

—

\/(;E) x+C

(C) sec(tanx)+C

©) x+%'°g|"u'l|+c

(©) Feo8’x+C

(C) cot™ (sinx)+C




73. J‘_‘i’i_dr -

x'%-10
(A)?_:- log ,.r"’ - lO‘ +C V(B/)- -Sz-loglxIo -1 0[ +C ©) = Ioglx'° - lOl +C
(D)_—zlog,.\"°—10|+C (E)——lloglx'o—lol'*'c
5 10
Vi
74. The value of I 5 dx is equal to
94+ x?
2
yE z T D) — (E) 1
SGE (B) = ©) ®) 3

s
75. The value of I(4—|x|)dx is equal to

-5
(A) 18 (B) 10 (C) 12 (D) 16 V(Eﬁs

76. The arca of the region bounded by the curves y =x?and y= Jx is (in square units)

2 1 ! 5 :
(A) 3 B) 3 © < (D) = (E)




77.

78.

79.

2 2

The value of I il
0 (x3 +l)

1 5
(A) 27 (B) 27

O sintx
The value of - .

J cind
£7g SIN" X +cos” x

d %
(A) Yy 1(B) 3

. —4is(ins
The area of the region bounded by y = 5x,x-axisand x =4 1s (in

- (A)40 (B) 80

: : i '=xt+ y2 is
The general solution of the differential equation y—xy =

{A)y = xtan(C - x)
(D)y=xtanx+C

T dx is equal to

8
ol Wy

dx is equal to

T
£ (D) =
© 7 >

(C) 20 (D) 50

1
(E) B

(E) 1

quare units)

(E) 60

(B)y=tanx+C (C)y=x*tanx+C

(E)y=xtanx+Cx




81. The integrating factor of the diﬂ'crcnlial cquation xy +2y._7x3 =0 is

I 1
(A) log[x| B X © = (D) Zlog|x|  (E) x

82. The general solution of the differential cquation dxy+12x+(2x* +3)y' =0 is

24743 y=3 b2
@ y+3 ¢ ®) 2743 ( )2x2+3

D) (-3)(2+3)=C ) (r+3)(2 +3)=C

st

3. The constraints of a lincar programming problem are x+2y<10 and 6x+3y<18.
Which of the following points lie in the feasible region?

(A)(0,6)  (B)(43) ©67H  O0D  (EQ,3)




84.

85.

86.

87.

Let f/:[-4, 2] - Rbe given by f(x)= m . Then the range of the function f;,

(A) [0,2] L/(R)[o,zﬁ]

r@{dﬂ]

(D)[2ﬁ,4]

(E) [—2.2]

Let f(x)=x? and g(x)=+9+x. Then the value of (S°g-8°/)4) is equal 1o

(A) 6 (B)V6

©) V8

(D8

(E)s

)

Let 4 and B be subsets of the universal set U. If n(A)=24, n(AnB)=g -
n(U) =63, then n(4'UB’) is equal to

(A) 43 (B).55

(C) 35

(D) 32

(E) 45

Let f(x)=[x],xeR, where [x] denotes the greatest integer < x. Then the images of

the elements —4.6 and 2.7 are respectively

(A)=5,2 (B)-5, 3

(C)-4,2

(D) -3, 3

(E)-4,3




LK,

Ko,

1.

For any tw nve mlimﬂ‘ ﬂtﬂ'nh(‘f! mand n, a hinarv_ operntion * is defined by
or any two pot
maen 7.i'gcq11n|tn
min—__._——.‘hﬂlz 2'
t ((7]’2 (M8 (F)9

3

The functon [ R -»> R given by ’f(|)-,—.-7-_\r is

(C)even | (12) one-one and onto | (F) odd

(A) not one-one ({BY pot om0

A relabon Ron (0,1, 2] 1t piven by R = {(0, 0), (1, 1), (0, 1), (2, 2), (1, 2)}. Then the

relathon B s

(A) refloanve (R) q.-mmctric (C) transitive

(D) svmmetnc and transitive (F) equivalence

let 2.z, and 2, be three digtinct points in the complex plane such that the segment
joming = and r. 1 perpendicular to the segment joining 2, and z,.1f |z, ~z,| =5 and
s, -z, =12 then |z, - z,| 1s cqual to

(A) 17 (B)7 (O)13 (D) 14 (E)9

If ©<11-13;,then =+ ¥ is equal to

(A) =22 (B) 22 (C) 25 W(DY26 (E) 26

- -




93. Leta =2-3ibe aroot of the cquation -4z +k=0, where k is a real number I3,
0B 4

the other root, then the value of a’+p 2 is

(A) 26 (B) -5 (C) 5 (D) 10 10

94. 1f z=2-iy/3, then ‘:‘I is equal to
®) V7 oW1 D (E) 4947

(A)7

N 241 .
95. The imaginary part of z =3°7 is

3 3
(D) 2 (E) 3

5 -5 A
(A) 3 (B)—S' §) >

96. The area of the triangle on the complex plane formed by the points 2, z+izandiz is

128. Then the value of | 2] is

(A) 12 (B)16 (C) 18 (D) 17 (E) 19
97. If the real part of the complex number z = p;ji , peR, p>0is % , then the value of
p is equal to

(A) V2 (B) V3 l JQ)/JE (D) % (E) 1



m+3m+2./(—9) is cqual to

98 The ‘raluc of

_ (©) 11 (D) -17i T
(A) 131 () -1 \(Ey17
36 _
—_— 18
g9, The value of };Z--S K* -k
1 2 1
1 ®y (@ (D) — ® 5
() 3 9 ? 12 36

100, If @), a3835-n 3T in A. P. witha; =3, a,=39 and g +a,+..+q =9 then 1,
s 1] ’ ] ¢

value of nis equal to

(A)S L(B) 10 (C) 11 (D) 13 (E) 15

101. Let 1,,n=12,3,.. be the n'™ term of the A. P. 5,8, 11,.... Then the value of n for which

, =305is
L) 101 (B) 100 (C) 103 (D) 99 (E) 95

102. If the first term of a G. P. is 1 and the sum of 3™ and 5™ terms is 90, then the positive
common ratio of the G. P. is

(A)1 (B) 2 ; )3 (D) 4

(E)S




103. In an A.P. the difference between the last and the first terms s 632 ang lh (
. e . . ¢
difference is 4. Then the number of terms in the A. P is Commey,

(A) 157 (B) 160 (C) 158 (D) 159 (E) 140

104. If the 10™ and 12" terms of an A. P. are respectively 15 and 21, thep the Commey,

difference of the A. P is
(A) -6 (B) 4 (€)6 (D)3 LLETS
105. The first term of a G. P. is 3 and the common ratio is 2. Then the sum of firs Cight
terms of the G.P. 1s
(A) 763 (B) 189 (C) 381 | (D) 765 (E) 655

_ A covid-19 vaccination reduces the probability of getting covid-19 infection from 0.4 1,
0.1. In a city, 45% people are vaccinated. Then the probability that a non-vaccinated

person chosen at random in the city gets covid-19 infection is
(B) 0.45 (C) 0.32 .\(9{ 0.22

(E)0.18

(A) 0.55

107. The number of ways a committee of 3 women and 5 men can be formed from a panel of

8 men and 5 women 1s
(A) 940 (B) 1120 \(/C)'/560 (D) 760 (E) 520




T—

1. Then the number of subsets of the set which contains at most

A sct contains 0 ¢lemen

4 clements it
(B) 64 (C) 128 (D) 256 (F) 512

108.

(A) 32

: ( -
109, 1f p and g aT¢ positive integers cuch that P*9'P, = 42 and (r=a)p, =20, then the values

of pand g arc respectively

(A)S.2 (B) 4,3 (07,2 r\(D)(,I (E)7,5

110. The number of 3-digit numbers that can be formed from the digits 0, 2, 3, 5, 7 is
(repetition 1s allowed)
(A) 125 (B) 100 (C) 105 (D) 150 (E) 60

111. 1f 3 15 in the (~1)" term of the binomial expansion of (3;:3 —-x? )9 then the value

of r1s equal to

(A)3 (B) 4 (C)5 (D)6 (E)7




20

. 2 :
112, The term independent of x in the binomial expansion ol”(x+;T is
20 20) o0 C 20
\
\
(20 20158
~10 (E) ( 2
(D) UO)- - 3 )

-2

] then A =
0

4 1 4 I
113. Let A+ 8= [ p 4]and B—[_l

0
3
3 -1 =2
(A) [3 J (B) [0 7 4J © |:2 | 4:|

516 316
®) [2 1 4] S P 4]
4 4 4
114. The value of the determinant (3 32 3|is
2 22 2°
(A) 52 (B) —24 (C) 24 (D) 48 Lg—;)/—43
1 2 ]
115. Iflo  x -3|=0, then the values of x are
2 -1 x

}A) 5,-3 (B)5,3 (C)-5,3 (D)2,3 (E)-2,-3




1l
w
—_— N
—
—
=
)
=1
=
Il

4 3 -1
116. If AB=[5 4] and A™'=|

2 1 1 2] [1 2] (D)[l l] J(By|? !
(A)[l 2] (B)[2 ©1, 1 2 (E) | 1}

-2 10
117. Thematrix | 3 4 1| is non-singular for A #
-4 4 0
(A) 2 (B) -2 (C)4 (D) -4 (E)0
x=1 2 1

118. Let| 2 x-1 2 |=ax® +bx? +cx+d, where a,b,c and d are constants. Then the
1 x+2 x-1

value of d is

(A)-8 (B)6 <)o (D) -6 L(E) 16

119. If the inequality —-13<x<5 is expressed in the form |x—a|<b, then the values of
a and b are respectively
(A)4,8 «(B)-4,9 (©)4,9 (D)5,9 (E)-5,9

120. The solution set of the inequality 5(4x+6) <25x+10 is
(A)(4,») (B) (—0,4) (€) (0,5) (D) (5,) (E)(—4,4)




